H & 0l & AHS B Ml A

A LRI Z L
M D2 =3 9 oF
el s ¥E 2 HYES A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
VRSN 3,023,066 4,580,266 1,857,200
= 95,563
[ 413,347
Al 959,119
- 1,565,037
s 54 2 o 1,912,122 3,037,275 A1,125,153
= 21,470
[ 413,347
Al 598,274
- 879,031
s FE 2 HYHgs = 1,775,183 2,307,983 /532,800
= 406,483
Al 583,245
- 785,450
SSTZAMNY FA 318,540 375,900 A57,360
Al 159,270
- 189,270
201 er23| 2,000 2,000 0
Al 1,000
- 1,000
01 AtR2t2|HI 2,000 2,000 0
S32ZAY FA 2,000
Al 1,000
- 1,000
401 AIEHIZ SR 0HYI 316,540 373,900 A\57,360
Al 188,270
- 168,270
01 Al&H| 316,540 373,900 ~57,360
S322AY F& 316,540
Al 158,270
- 188,270
2322 AY FE(XHAALY) 51,000 99,000 /48,000
201 er2 3| 1,000 1,000 0
01 AtR2t2|HI 1,000 1,000 0
S7E Fd 332l UE= 1,000
401 AIEHIZ SR HYI 50,000 98,000 /48,000
01 Al&HI 50,000 98,000 248,000
ST7E 39 3Ll UEs 50,000
NS SH LR2IAL (HEAI) 502,000 449,560 52,440
Al 376,500
- 125,500
201 Ler=23 | 23,000 23,000 0
Al 17,250




A LRI Z L
M D2 =3 9 oF
el s ¥E 2 HYES A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 5,750
01 AtR2t2|HI 23,000 23,000 0
NESSH LAeIAS 23,000
Al 17,250
- 5,750
401 Al HIZL 201 479,000 426,560 52,440
Al 369,250
T 119,750
01 Al&H| 479,000 426,560 52,440
NHSSH LA2IAIE 479,000
Al 369,250
- 119,750
2Ael ZE AN 10,580 10,939 A359
201 et 3| 3,780 4,139 A359
01 At 2|l 1,200 1,200 0
2ACIHE S2AE MM & EOtM JIE
20,0002 * 102 %62 1,200
02 35244l 2,580 2,939 A359
P NEEG =] 2,580
« ASRHAl 70,0002 1CH 70
HEEE= 350,000 1CH 350
Xt X2eld 400,000 *1CH 400
el 1,600 1, 100L*1CH 1,760
203 HR=H| 6.800 6.800
03 A=A PR 6,800 6,800
FUYENE HRFA 5,000
LA ZH gRFA 2,000, 0002 *90% 1,800
ARIEDIE |4 A& 257,915 641,200 A\383,285
[ 192,491
Al 44,975
- 20,449
201 er23| 1,200 1,200
01 AtR2t2|HI 1,200 1,200
=7 ABREHSIRE sloELL
100,000 6 »23] 1,200
307 212+01& 256,715 640,000 A383,285
= 192,491
Al 44,975
- 19,249
02 QB AANEER 256,715 640,000 A383,285
ARIEIIY |4 X2 256,715
[ 192,491
Al 44,975




A LRI Z L
M D2 =3 9 oF
el s ¥E 2 HYES A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 19,249
MBI EDIY BHOte B 2d 10,000 13,000 A3,000
201 et 3| 10,000 13,000 A3,000
03 A2 I 10,000 13,000 23,000
AR RO SHOHY EE 2¢ 10,000
ASYE MEISEES XM (HEAY) 108,167 108, 167 0
307 glztol & 108,167 108, 167
02 2IZHB A E £ 108,167 108,167
AEE AR SEAIS 108,167
AEsd ZEE 2l At 427,994 488,358 260,364
[ 213,997
- 213,997
101 21A4H| 427,994 485,458 N57,464
[ 213,997
- 213,997
M ORNZZ2NSE S 427,994 485,458 Ab7,464
dEE ZEd dReIAg el 427,994
= 213,997
- 213,997
FHEEZHE 29 N2 47,487 33,259 14,228
Al 2,500
- 44,987
101 @12A4H| 28,827 28,59 228
04 JIZtN2 2N S 2+ 28,827 28,599 228
FHUZ2HH FHLEHE B
85,2642 x1H =297 25,324
YOS 300,000 113 300
XEE =Xl 300,000 x1H 13 300
AHEE FE= 2,903
- == RFES 25,624,0002 *4. 5% 1,1%4
- UEEE FE= 25,624,000 *1.75% 449
- AHATHOHE A RES
25,624,000 *1.066% 274
A28 REY=S 25,624,000 *3.545% 909
QAL FYS
909,000 %12.81% 17
201 223 18,660 4,660 14,000
Al 2,500
- 16,160
01 At22t2lt] 2,280 2,280 0
FHEYRHH s S
95,000 »2CH =128 2,280
02 S3=gl 2,380 2,380 0
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A LRI Z L
M D2 =7 9 oF
Rl 3E 33 =N A 25 R (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 6,109
T 4,890
02 2IZHB A E £ 10,999 77,760 66,761
1839 FHE0|S ddSAHA At 10,999
= 6,109
- 4,890
sul gugss2t gdat N3 20,000 20,000
307 @I2t01 & 20,000 20,000
05 git?(& = 20,000 20,000
FUEOEAHIOIE X228 29 20,000
NSZH 2483 X HHXIAR 183,411 17,744 65,667
= 51,623
Al 26,969
- 104,819
Fobte 22X & XGBH 243 141,389 83,244 58,145
= 35,373
Al 23,969
- 82,047
HEANEY ANEE FXNE=> 20,000 20,000 0
401 AIEHIZ SR 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
HEANE == AI2=S EHI 20,000
HEAE SHSHALY X2 5,400 5,400 0
Al 2,700
- 2,700
307 el2tol & 5,400 5,400 0
Al 2,700
- 2,700
06 28= 5,400 5,400 0
HdSAE SFMSHAME 2= X2
108,000 5004 A 5,400
Al 2,700
- 2,700
FSHE T2 900 700 200
201 er23 | 900 700 200
01 At2teltl 900 700 200
SEANMUNBS S HAST
100,000& 9 *13] 900
Sty a2tel 17,348 24,348 AT7,000
201 ger=3| 2,000 9,000 AT7,000
01 AtR2te|H] 2,000 9,000 A7,000
SIHEEE=E HH 1,000
280 NE 82 S 1,000




2A:

2 Atel Z Xl ot

S NG3H 2dat & U XIA
ool REA WA U XA 23t (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 15,348 15,348
14 IIEt2 83 16,348 16,348
SIIDUERY HEt|
85,2643 x3& »60! 15,348
SREM =4 2,500 500 2,000
201 ger=3| 2,500 500 2,000
01 AtR2te|H] 2,500 500 2,000
SR3N E2= HE S 500
SHEM u=s =8 2,000
HetAga 243 N2A 37,911 0 37,911
= 11,373
Al 13,269
- 13,269
301 22N = 37,911 0 37,911
= 11,373
Al 13,269
- 13,269
14 0Bt 2a3 37,911 0 37,911
IebtAgAe NE S 37,911
= 11,373
Al 13,269
- 13,269
HSANE F=ItENE A 40,000 0 40,000
= 24,000
Al 8,000
- 8,000
401 AIZHIX S0HH 40,000 0 40,000
= 24,000
Al 8,000
- 8,000
01 Al&H| 40,000 0 40,000
HSAY =Xt A 40,000
= 24,000
Al 8,000
- 8,000
KATHA S Al S ALY 17,330 32,296 214,966
201 Ler=23 | 2,330 2,2% 34
01 At2teltl 2,330 2,296 34
NS =&
100,000 7 & *13] 700
Sold HASEE R 1,630
403 THXI M SAH=01H 15,000 30,000 A15,000
02 SIS0t =S A A 15,000 30,000 15,000




BRI
S NG3H 2dat & U XIA
ool REA WA U XA 23t (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
|| XemAme 25 - 281 15,000
MUK & Az 2 42,022 34,500 7,522
= 16,250
Al 3,000
T 22,772
HEI| I3 A 17,522 0 17,522
101 @124H| 12,612 12,612
M ORINZZE2NSE S 12,612 12,612
HEI EIIBA 2 12,612
201 er2 3| 4,910 4,910
01 AtR2te|HI 4,910 4,910
HEDI! EIIBA 23 A4 ME 1,100
SAEHl & 2EE X axts 3,810
a2 HRFE S RSEM 2E 4,500 4,500 0
= 2,250
T 2,250
308 XXM SOl 4,500 4,500 0
= 2,250
- 2,250
18 S| 2SS XA AIE 4,500 4,500 0
LPEZI| AFBIIT AIEIHEAIY
225,000 «20AICH 4,500
= 2,250
- 2,250
FAHS HUEHXIZX A 20,000 30,000 10,000
= 14,000
Al 3,000
- 3,000
401 AIEHIZ SR THYI 20,000 30,000 10,000
= 14,000
Al 3,000
- 3,000
01 AlZH| 20,000 30,000 10,000
NASE DY wH 20,000
= 14,000
Al 3,000
- 3,000
sEFMYE NE - 22 & SEES 757,202 656,902 100,300
= 22,470
Al 333,876
- 400,856
sEFME NE & 2 544,202 445,102 99,100
= 1,400




A dXelZ N Dt
ZH: =54nQ (R - 22 L S2ES
=®Hel: s5E=4Y XNF & 22 (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 276,161
- 266,641
SII12HIE XZAIS(HEALY) 12,481 12,481 0
Al 2,898
- 9,583
307 212+01™ 12,481 12,481 0
Al 2,898
- 9,583
02 QIZHEAAHE R 12,481 12,481 0
SFI1Edlg KA 12,481
Al 2,898
- 9,583
GAPRHE S ZA XA 2,000 1,400 600
= 1,000
Al 500
- 500
307 gI2tol 2,000 1,400 600
= 1,000
Al 500
- 500
02 QIZHEAAHE X 2,000 1,400 600
GAP Ot H ZAXIA 2,000
= 1,000
Al 500
- 500
Zatd elsdl K& 920 600 320
Al 460
- 460
307 gI2tol ™ 920 600 320
Al 460
- 460
02 QIRHEAAIHEE X 920 600 320
Z&d oIEH| K& 920,000 *1H 920
Al 460
- 460
=0l Molietd SHE K& 3,960 3,600 360
Al 1,980
- 1,980
307 gI2Hol ™ 3,960 3,600 360
Al 1,980
- 1,980
02 QIRHEAAIEE R 3,960 3,600 360
S0 Mot SHE K& 3,960




A LRI Z L
ZE: sEs0e IR - B2l Y 5225
=®Hel: s5E=4Y XNF & 22 (EEEE))
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
Al 1,980
T 1,980
CASY TE(HEAY) 51,000 49,600 1,400
Al 27,000
- 24,000
201 er2 3| 1,000 1,000 0
Al 1,000
01 At2tltl 1,000 1,000 0
TAsg A 24| 1,000
Al 1,000
206 MH=HI 1,000 1,000 0
Al 500
T 500
01 MHZH| 1,000 1,000 0
sed sAM X 10,0003 » 100 1,000
Al 500
- 500
307 @120l & 49,000 47,600 1,400
Al 25,500
- 23,500
02 LB MAHEE 49,000 47,600 1,400
a% 8e S x4 N
800,000 *200H 2 16,000
Al 8,000
T 8,000
t=zg &g =2+ A
250,000 #4042 1,000
Al 500
- 500
HESSse STuSE x4, 24
8,000,000 +2JH 2 16,000
Al 8,000
T 8,000
5D glilctes =AIsR ME
6,000,000 * 10 2= 6,000
Al 3,000
- 3,000
CASY ANUREE SAAE 2,000
Al 2,000
CASSNIHE(HSE LT |2) SAAL
jie 8,000,000 * 104 2= 8,000
Al 4,000
- 4,000
ST TP satE K2 264,192 240,768 23,424
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A LRI Z L
M =EaMY KW 22 W S295
el sERMY AR # 2e (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- 15,000
206 MH=HI 30,000 30,000 0
Al 15,000
- 15,000
01 M= Hl 30,000 30,000 0
S FMEA LFAE 30,000
Al 15,000
- 15,000
U8 MEfAH R RS EXIA 35,000 8,500 26,500
Al 28,000
- 7,000
307 el2tol & 35,000 8,500 26,500
Al 28,000
- 7,000
02 QItASAIEE X 35,000 8,500 26,500
Li=8 2ei=HHE EXAS 35,000
Al 28,000
- 7,000
280 E RFH XA 6,000 6,000 0
Al 3,000
T 3,000
307 elztol & 6,000 6,000 0
Al 3,000
- 3,000
02 2B YAIHE £ 6,000 6,000 0
LM RFH A2A 6,000
Al 3,000
- 3,000
OgEA &8 3,254 3,677 VAVIZR
201 =3 3,224 3,647 VAVIZR
2 S52g4l 3,224 3.647 N423
==l 1,600& 0.0 £ 602 x60 L x4 Al 2+ 2,074
sRO(AdY) 50,0002 *3H 150
d8s 7Y 1,000
301 EtE2 NS 30 30
11 #AIAHIXIE S 30 30
SRA 22X A=XZM=UHE B
30,0002 +1& 30
sXfds 2 3,000 3,000 0
201 er23 | 3,000 3,000
01 At2teltl 3,000 3,000
skA2e 23 100,000 x 10 +33] 3,000
L& & D12 wdl X2 53,880 0 53,880




A LRI Z L
ZE: sEs0e IR - B2l Y 5225
Rl sERAY AE & 2l (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 26,940
T 26,940
402 QIF X201 & 53,880 0 53,880
Al 26,940
- 26,940
02 QI A2 AL E R (0IHTHE) 53,880 0 53,880
W8 old D12t Wil K& A 53,880
Al 26,940
- 26,940
SEESAME 213,000 211,800 1,200
= 21,070
Al 57,715
- 134,215
120l 5435 ==(TR) X 80,000 100,200 220,200
= 16,000
Al 32,000
- 32,000
307 elztol & 80,000 100,000 /20,000
= 16,000
Al 32,000
T 32,000
05 2IMRIE =3 80,000 100,000 /20,000
10l 43 +==(NR) XA 80,000
= 16,000
Al 32,000
- 32,000
Rllss B3 49,900 51,500 21,600
= 3,570
Al 23,165
- 23,165
307 212+01& 49,900 51,500 21,600
= 3,570
Al 23,165
- 23,165
05 git?(& = 49,900 51,500 21,600
=lls= FIEE2H] 38,000
Al 19,000
- 19,000
RIS= A2 11,900
= 3,570
Al 4,165
- 4,165
RIlsS LAHIE N2 3,000 3,000 0




A LRI Z L
ZE: SELMQ R HR U 5225
ol SESESAY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,500
Al 750
- 750
307 @I2to| & 3,000 3,000 0
= 1,500
Al 750
- 750
02 2B YA HE A 3,000 3,000 0
=ls=S gLddlE N2
150,000 x20H 3,000
= 1,500
Al 750
- 750
S=S=AM 4,000 4,800 A800
307 @120l & 4,000 4,800 A800
05 glt?(& = 4,000 4,800 A800
SSEE W2 4,000
S=ESME =8 9,300 13,500 A4,200
Al 1,800
T 7,500
201 er23 | 5,700 6,900 21,200
01 At2teltl 5,100 6,300 1,200
SSE5 #40 U QYT S FIF 3,300
tlelss 2stuy 29 1,500
HilSEEs2 2E5E
50,0002 64 300
02 S5=24g4l 600 600 0
BefA=018 S+=U dots=e=s
50,000& * 122 600
301 LEtE N = 3,600 3,600 0
Al 1,800
- 1,800
4Bt 2as 3,600 3,600 0
&2 =g 300,000« 1H =122 3,600
Al 1,800
- 1,800
THEIIEAIE ZHl ALY 66,800 32,400 34,400
301 EtE NS 64,800 32,400 32,400
14 IIEt2 8= 64,800 32,400 32,400
FEIIFAE HIYQ dSAINS(ES
22H) 300,000 x 18+ 12& 64,800
401 AIZHIX S0HH 2,000 2,000
01 A28l 2,000 2,000




SA: LXRIZHD
Hm: mESMY XY B2 Y SBES
ol SESESAY (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
||| 7=azzaza o Ag |x 2l 2,000
BH2HAL(LR2IAH D) 170,331 168,345 1,986
olzt2 | %,082 90,096 1,986
ol 2yl %,082 90,096 1,986
101 Q1214 86,981 8,155 1,826
2 JIEFE S 41,927 41,478 449
FQASE (AHIE IR 0FS) 41,927
=3 26,270, 13024%1% 26,271
JiESY 80,0002 12 122 960
- ARtSIZR A
9, 1601 =37 Al 2t 122 4,068
- oA 20,0002 12 143] « 122 3,360
- HUZA| 140, 0008 <124 x 122 1,680
EECEN] 155, 00021 +124x7/8+ 122 1,628
- Helg s 50,0002 1247/8+ 122 525
- eOPE A
2,189, 1802 +B4%+86%1/30+1/7570AI 24 528
SaEoLy 100,640+ 122 1,208
ERIGE 1,699,002 %12 1,699
03 BRH(PI|H )22 R4 45,054 42,274 2,780
TS M2 20 45,054
=3 2,885,5702 124+ 122 34,627
bESY 40,0002 * 122 1,680
- BIl2sag 20,0002 %12 128 240
HouZAlH| 140,00021* 12+ 122 1,680
=E-ESIE] 2,885,570+ 124%80% 2,309
- XRSENLY
16, 06421481 2242 3,085
Te 22X B0
3,769,0302! x38% 1,433
304 HFREHIS 5,101 4,941 160
04 ZRE (DI 2EN FHERHZ S 5,101 4,941 160
ZON 22 FAILHRLS
45,051,800 x4. 5% 2,028
ZeXN 22 FAALHERLS
45,051,80021+3. 545% 1,59
ZON 22N LA RYRHPHS
45,051,80021+3. 545%+12.8 1% 205
TRN 22X DBEHLLS
45,051,80024%1.75% 789
TR 220 MYEERES
45,051,80021%1.066% 481
JIEET 78,249 78,249 0
PIEET 78,249 78,249




2A:

2 Atel Z Xl ot

M Y AFH|(LX2IZH )
&l D122 (CH9): &S
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
201 LB-2AH| 21,099 21,099
01 AtR2telt] 21,09 21,09
A2 3,500, 0002 *95% 3,325
SHEMNPZAXIS OIMY|
35,0002 702 2,450
J2dRFE ZA|
8,000 x24H x64]x 12& 13,824
D2 EUIIEZIX 1,500
202 0idl 50,400 50,400
01 =LHO4b| 50,400 50,400
A SH0HI 280,000 255 » 122 x60% 50,400
203 AR F&lY| 6,750 6,750
01 J|22Y A RF=&IH| 2,970 2,970
J|22IHLF=L| 3,300, 000& *x90% 2,970
M 2GRS 3,780 3,780 0
FA2IHRFEHI 350, 0003 * 12 x90% 3,780




